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® 2x+3y+3

A-B=(3x-y+1)—(-x+2y-2)
=3x-y+1+x-2y+2
=4x-3y+3
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4. TFA (a-b)(@? + ab+ b?) < AR

® a®-b? (@)a3—b3
® a4 b? @ a® + 3ad%b + 3ab® + b3

® a® - 3a®b + 3ab® - b®

A 1 (a-b)(a® +ab+b?) =a-b3




5.

(a=b+c)(a—b-c)E AMN5HH?

® -a®>+b>-c®+2ca @ a®-b%>+c%+2ab
@ a4 b% + 2 + abe @ a?-b%-c24 2

@a2 +b%—-c%-2ab

B

(a=b+c)(a-b-c)
={(a=b)+c}{(a—b)—c}
=(a-b)?-c?

:a2+b2—C2—Qab




6. THIA f(x)2 2 + 3x+ 22 UrH Y Fo] 3x—40]3, L 47}
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B

f(x) = (2% +3x +2)(3x —4) + (2x + 5)
= 62>+ 922+ 6x—8x2 - 12x -8+ 2x+5
=6x34+x2-4x-3

L f)=6+1-4-3=0

f(x) = (2x +3x+2)(3x —4) + (2x + 5)
F1) = (243+2)(3-4)+(2+5) =~T+7=0
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(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2x2 — Tx + 8) = ZHATHTE Aof|A] x3
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O 31 @ 33 ® 35 @ 37 @39

2x3 x 8 = 3x2 x (=7x) + 3x x (—=2x2) + 4 x 2x3 = 39x°




9. &PH+bP+c2=9,ab+bc+ca=9, a+b+c2 7F2?

® -3vV2 @ -2v3 ®)+3v3
@ +3v2 ® V6

B

(a+b+c)* =a*+b*>+c* +2(ab + bc + ca)
=94+ 18 =27

“a+b+c=+3V3
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, 2A + BE oh= 1ol A

2A + B = 2(a + 2b) + (2a + 3b)
= (2a + 4b) + (2a + 3b) @ FHiH 2
=2a+ (4b+2a)+3b © AIHZ
=2a+ (2a+4b) +3b © W32

= (2a + 2a) + (4b + 3b) @ LT
=(2+2)a+(44+3)p © FHIHA
=4a+7b

> =

> 3E: ©

@ 2a + (2a + 4b) + 3b = (2a + 2a) + (4b + 3b): A




